Economics 102

Spring 2004

Answers to Practice Questions 3

a. The plumber’s wage is part of GDP as it is a payment for a final service.

b. The price of the fixtures is included in GDP since they are a final good. The value of installation is not included as there is no payment made to the plumber.

c. The cost of the wood is not included in GDP as it is an intermediate good.

d. Only the cost of the new house would be part of GDP. 

e. The guitar’s original price was included in 1965’s GDP. The sale contributes nothing to current GDP.

f. Yamaha is a Japanese company that does not produce goods in the U.S. Thus, if the keyboard is purchased directly from Yamaha there is no contribution from the sale. If it is purchased domestically, then the profit the music store makes on the sale and any commission earned from the sale is included.

g. IBM has not issued any stock this year. Sales of stock are included only in GDP if it is a new offering.

h. Gambling winnings are just a transfer between people and are not included in GDP.

i. The price of the new car may be included in GDP if the car is produced in the U.S. See f. for more details. The sales price of a used car is not included. 

j. Since there is no transaction, there is no contribution to GDP.

k. $25,000 was included in 2002’s GDP but there is no contribution to GDP in 2003.

2. Expenditure approach: GDP = C + I + G + NX

Consumption = Cars + Food = 6M + 14M = 20M

Investment = 0

Government = 0

Net Exports = Trucks = 0.8M

GDP = 20.8M

      Factor Payments approach: GDP = Wages + Rent  + Profits


Wages = 3.8M + 4.5M = 8.3M


Rent =  0.2M + 1M  + 2M = 3.2M

Profits = 2.8M + 1.5M + 5M  = 9.3

GDP = 20.8M

Profits for each business are found by subtracting all factor costs from revenue. For example, for Lots o’ Food 

Profit=Revenue–Resources–Wages–Land costs=14M – 7M – 4.5M – 1M = 1.5M 

3. (a) Using the CPI as given gives the following.

	
	
	GDP

	
	CPI*
	nominal
	real

	1970
	38.8
	1039.7
	2679.6

	1971
	40.5
	1128.6
	2786.7

	1972
	41.8
	1240.4
	2967.5

	1973
	44.4
	1385.5
	3120.5

	1974
	49.3
	1501
	3044.6

	1975
	53.8
	1635.2
	3039.4

	1976
	56.9
	1823.9
	3205.4

	1977
	60.6
	2031.4
	3352.1

	1978
	65.2
	2295.9
	3521.3

	1979
	72.6
	2566.4
	3535.0

	
	*1982-1984 = 100
	


(b)    
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It appears that although nominal GDP was steadily growing, real GDP was nearly constant. The rapid inflation of the 1970s hides the 1974-75 recession.

(c) By dividing all of the given CPI numbers by 38.8—the CPI in 1970—we get a new CPI which makes nominal and real GDP equal in 1970.

	
	
	
	GDP
	 

	
	CPI*
	CPI**
	nominal
	real

	1970
	38.8
	100.0
	1039.7
	1039.7

	1971
	40.5
	104.4
	1128.6
	1081.2

	1972
	41.8
	107.7
	1240.4
	1151.4

	1973
	44.4
	114.4
	1385.5
	1210.8

	1974
	49.3
	127.1
	1501
	1181.3

	1975
	53.8
	138.7
	1635.2
	1179.3

	1976
	56.9
	146.6
	1823.9
	1243.7

	1977
	60.6
	156.2
	2031.4
	1300.6

	1978
	65.2
	168.0
	2295.9
	1366.3

	1979
	72.6
	187.1
	2566.4
	1371.6

	
	*1982-1984 = 100
	
	

	
	**1970 = 100
	
	


(d)
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The second graph is easier to interpret. As nominal GDP is increasing faster than real GDP the country is experiencing inflation. In fact inflation was great enough to hide the fact that in 1974 and 1975 there was a recession. If we looked only at nominal GDP we would not see the recession.

a. No one that does not work for money can be employed. If the student is not looking for work, then she is not in the labor force. If she is looking for work, she is unemployed.

b. Even though he is not looking for work, because he plans to return to work after the change over, he is considered unemployed. Note: a change over is the process of retooling a factory to produce a different good such as a new model of car.

c. Assuming she is not looking for work or self-employed, she is not in the labor force.

d. Employed. 

e. Even though he is looking for work, he is not considered part of the labor force because he is less than 16 years of age.

f. Katie is seasonally unemployed if she is looking for new work. Otherwise she is not in the labor force.

g. Assuming the steel workers are looking for new jobs they are structurally unemployed as their skills as steel workers are not useful in other trades.

h. Because the layoffs are the result of generally poor economic condition, these people are cyclically unemployed.

i. John is frictionally unemployed.

j. Mary is employed.

Multiple Choice Questions:

4. (d) People enjoy things that are not included in GDP. Recall from micro that people enjoy leisure. As GDP, which is income, increases people will increase their consumption of leisure which they also enjoy.

5. (d) Intermediate goods do not contribute to GDP.

6. (c) Even though Toyota is a Japanese company the price of the car is included in U.S. GDP as it is produced within the boarders of the U.S. 

7. (d) The value of goods are included in GDP for the year they are produced. Thus, GDP must include additions to inventory. 

8. (d) The frictionally unemployed are those that are only employed for a short time while they move between jobs. Economists always expect some unemployment due to labor market friction as people move between jobs.

9. (a) Structural unemployment refers to employment caused by changes in technology that makes a worker’s skills useless.

10.  (d) Cyclical unemployment refers to unemployment caused by relatively poor economic conditions, i.e., a recession.

